Model question paper 2019 - 2020 / wrglfl afl@rrggrer 2019 - 2020
X STD - ugsriv sugliy
SOCIAL SCIENCE - seyps oyplaflwe
(English & Tamil Version / g midlevd whmid s10ip)

Time Allowed : 15 min + 21/, hrs Maximum Marks : 100

&mevlb gjerey : 15 Blbl o + 21f2 Loewst] Qurss wHiGlussrassr : 100

Instruction : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately. :
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
gfleyenr . (1) gyewenrsg allarrasenb FMlurs H&al udlaurd o_dqrersT sTaTUMS
Ffluriégis Csreremeayid. gFaiuglalle) Gsmmulmiller gemm
seursTenfiiiuTerflib 2t erigwrs GgfalsseayL.
(2) Fovid jevevg &HLIL swoullenesr L G 6TSIMSD LD
9 4-5CsTy HeugD G LwaTUBSS CauaTBILD. UL BISET aenTasSDH G
Queitdled LTRSS L.

Note : This question paper contains four parts.
GDILLY . @leuallerrssrer BrerE UGS Hemens CsTeasTLg).
Part- 1/ u@gg - 1
(Marks : 14) / (wdluGuemser : 14) 14X1=14
Note : (i) Answer all the 14 questions
(if) Choose the most suitable answer from the given four alternatives and write the

option code with the corresponding answer

eoluy : (1) @uueglulle o_srer gemarsg 14 allarTésend @ allenLwefléseyLb.
(2) Qsr@ssaul_@erer Breig wrHn aflenLsefls seayb QurmssLorss
sl emws CaipolsHSa GMuT HLsr aflenL_ullenearwd Caidg 6TwpSayLb.
1 With whom of the following was the Lateran Treaty signed by Italy?
a) Germany b) Russia c) Pope d) Spain

B)85med wrpLeT Gl Lyeir 2 1L sty Semseow CFig CaTeaL_g)?

9|) Cg e o) ragwr @) Gumrd ) eGlLuflesr



Where was the third session of the Indian National Congress held?

a) Marina b) Mylapore | c) Fort St. George  d) Thousand Lights
BFw CaAlw srrdradleT epeTmreug dnl L b 6ThIE BeoL GlLUHDE?

9)) Gflesrm 9},) EHLDEVTLILYT

@) Qeuller’_ gorirgd GarilenL ) guilrio eflerss,

Who was the first Indian Judge of the Madras High Court?

a) T. Muthuswamy b) P.S. Sivasamy c¢) V.S. Srinivasa Sastri d) G.A. Natesan
Qesirvar o wigdwstpsdar w0 @bSu FHUL wri? :

) T. psgieTd <) P.S. fsusmif] @) V.S. £aflours srevglfl &) G.A. pGLs6br
India’s first organised trade union, the Madras Labour Union was formed in

a) 1918 b) 1917 c) 1916 d) 1914

@pglwrails) 1psedls RuBIGmWLESLIUL L CFaTenar CgTHHFRSD 2 (HauTdhsliL L 2 e[
<) 1918 <) 1917 @) 1916 m) 1914

Assertion (A): The Revolt of 1857 was brutally suppressed by the British army.

Reason (R): The failure of the rebellion was due to the absence of Central authority.

a) Both (A) and (R) are wrong

b) (A) is wrong and (R) is correct

c) Both (A) and (R) are correct and R is the correct explanation of A

d) Both (A) and (R) are correct, but R is not the correct explanation of A

Gnpml - Ufliig el oyrar 1857 940 g emr(h) Slerisflemw @)Hoydasrid Cl&menT(h
L sHwg.

ST EsTLD . sLWlUBSSUILL L Semeventd B)veuTssTev slemiéd] Gxmsvail
&6WTL_G).

9)) S Dy WHMID STrenTd Q) rTHGL Houm)

9b) S pD) UM, STTEWTLD &Fif]

@) sDm LHMID HTTESHTLD FIFl. FnDHMISGS STTewTd FFWTeT allerdssLomELD

) S DM HMILD STTERTLD Fil. Fn DMIHGHS STTenTDd FHlwrear aflorssLos)s

Pick the odd one out:

a) Khadar b) Bhangar c) Alluvial soil d) Black soil
CUTBESTEMSS G615 (4% e Lb:

3|) HTHT 9p) LITRIGT (3)) euessTL 6V LOGTST ) &ifl&6V Loevar
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A line joining the places of equal rainfall is

a) Isohyet b) Isobar c) Isotherm d) Latitude
2Gryjemey wenGlLMID @)L Bisener B)emenrsd @ Car@

9) Fwlleuling Cxr(® <) F10 W PEEHTH

@) 510 9jwbss 6 w) ojled Gar®

The first paper Industry was started in

a) Raniganj b) Durgapur c) Hoogly d) Baliganj

W5 sréls Gsrfharensy Glsr_msliul L @)L b .

9)) TTeRflsEns ) SITSETLT @) andsafl /) LiTedls Ehe

The scientific study of different aspects of population is called |

a) Photography b) Demography c) Choreography d) Population density
wa &6 GG rens uiler LLVGaIm JybFmEeT DY HPleflwe) LifeureT Lig iy

9) gefliuLellwey o) weseflwsd @) @ L_pameoulled ) ESeTL TS

The latitudinal extent of Tamil Nadu is

a) 8°5'Nto 13°35'N  b) 8°5'St0 13°35'S  ¢) 8°0'Nto 13°5’'N  d) 8°0'S to 13°05'S
SODPBTL_Ig.65T L FLILTeus)

9) 8°5'6u - 13°35'au <) 8°5'Gls - 13°35'S06s

@) 8°0'su - 13°5'au 7) 8°0'0s - 13°05'0s

Arrange the following in the correct chronological order and choose the correct answer from
the code given below.

(i) Panchsheel (ii) Nuclear test at Pokhran

(iii) Twenty-year Treaty (iv) First Nuclear test

a) (i), (iii), (iv), (ii) b) (i), (ii), (iii), (iv) <) (i), (ii), (iv), (ii)) ) ), Ciii), (ii), (iv)
Ulsiteu Lo g pplewest srevsuflensliu@®s8 $CY Car@ssiiul Berer &mnlufBasefsd mBHa)
sflwrer afleoL_eowsd Csih6ls [H)&s e L.

(i) ugpsfeood (ii) Qumrsrrefle) oamIFGsrgenesr

(ii) Qwus YaT®ser puuBsD (V) WoTOG JgUFCFTHM6T

<) (i), (iii), (iv), (ii) <) (i), (i), (i), (v) @) (), (i), (iv), (i) ) (i), (iii), (i), (iv)
The Chief Justice of the Supreme Court can hold the office up to the age of (in year)

a) 58 b) 60 c) 62 d) 65

o _sepglwetn B Hlugsefler @iuia) Qupib arwg (o6 @Hsefe)

9) 58 <) 60 @)) 62 ) 65
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Choose the incorrect statement(s):

(i) Shortage of goods, whether natural or artificial, is the root cause of black money.

(ii) Industrial sector has been the major contributor to black money.

(iii) Smuggling is one of the major sources of black money.

(iv) When the tax rate is low, more black money is generated.

a) (i) and (ii) b) (iv) c) (i) d) (i) and (iii)

gauprer s Hylevear / g pmiseer Coih6l56Hés e b

() QuperswreBaur Hoeg QewunhemsewursGaur LT kisellsr UDDTEE@D &@HLIL
URTSSIN G VS STTERTLD )G LD.

(i) s@LYL uewTd CareTmIusHE e WEW LkE audlliug QsTHDHSIMD ) ELD.

(iil) sBUYL ueTSSD @ SL_S5S6V R(H PSS PSS STTEsTLD.

(iv) suflalldlpid Gewmeurs @)méG0CUTE, 9Slaserailsd) smHLLL LT & (HaurssiuGEDs).

o) () wpguid> (i) ) (iv) @ () ) (il) wgbmutd (ii)
Basic Component(s) of food and nutrition security is / are

a) availability b) access

c) absorption d) all

2_enTey WMHMID FSGIenTey LTGISTULIET g lIuenL_d Fnni(Her)

9)) SlewL_Ggev ) S|TIGHD
3) yw FEuT® F) SDTSSILD
PART - Il / uggl - Il

(Marks : 20) / (ogli@Quesstssr : 20)
Answer any 10 questions. Question No. 28 is compulsory. 10X2=20
sTemeuCuenid 10 aflerrésend @ wL_ B0 alleweflsasEeayLb.
28 augy eflerrailnE s Lrwwrs eflep_weflds Geuest@Ib.
Explain the Monroe Doctrine.
wer@Gmr Csriurl v aflerd@s.
What was Marshall Plan?
LOTiTege0 S L (b eTETHTSL 6TeiTeRr?
Write the objectives of Home Rule Movement.

serrerT & @uisssPler @nsEGaTerasemer afloufldaseyib.
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Name the Sangam texts for which Maraimalai Adigal wrote commentaries.

LOEDMLOEHEV j1q.&6T eflendaaeny TP Fhis prevseaflar Quwisamers GUIULIRS.

Name the neighbouring countries of India.

@)bHlwreallssr gyerenL BrHsersT CUwrsemer sTSIS.

State the types of agriculture practices in India?

@)bFHwreailssr GeuerreaisTenio (WewmEsemer GMILILI(HS.

Define “International trade”.

‘uetTarm_ () suewfla” suenrwmnIss.

Write a short note on Mangrove forest in Tamil Nadu.

SUIPBHTL1960 sTemrliu®Bid wraGlrrey sr@senery unn) Fm GMILGLWSES.

What is Money Bill?

BlF wCeFTET sTETMTE) 6T6I6UT?

Mention the names of the member countries of BRICS.

difl&en o_miiy pr@seflsr QuUwisemers @nIOLHs.

What is per capita income?

S6flBLIT QU(HLOTESTLD 6TETMT6V 6T63T6DT 7

Define: Food Security according to FAO.

2 _ewre| HMID CeuarTeTento HeHLLILIETLIY 2 _eTey LITGISTLIL] TEHTLISENET 61D IMIdHS.

Define: Tax

NI WMIGs: surfl

What do you know about Renewable resources?

Y&IULNESE gnigw euermigsst upm Balli o mleuGlgsiTer?

PART - 1ll / ugg - Il
(Marks : 50) / (wgli@ueisser : 50)

Answer any 10 questions. Question No. 42 is compulsory.

semauCugniid 10 eflerrésends@ wi G aflenLwefldseyb.

42 eug) eflenrallh@ s Lrwwrs el weflss Gausr(hio.

Fill in the blanks:

) ——

was the Headquarters of the Council of Europe.

10 X5=50
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(ii) Soil is suitable for the cultivation of tea and coffee plants.

(iii) is the first women Governor of Tamil Nadu.

(iv) The term globalization invented by

(v) is the highest peak of South India.

Camrg L @)L_misewer Blyiiys:

() @Crritw guwsdlsr smeaeno

B&6D jewLobgeTeng).

(ii) Gaullewsv HMID &TooL]] aflewereush@ e &Hhs LoessT 2},&LD.

(iii) SUP&ESF6T (P60 GLICTT 9y ETHBT DpeUTHT.

(iv) 946V 2_USLOWLOTESED 6T6TM LIGLD Hesst(HLilighaiul L gi.

(v) Qzeresllbdlwmraller s o wrwrer A&y

Match the following:

(i) Hindenburg

(if) Wahhabi Rebillion
(iii) Tani Tamil lyakkam
(iv) Syngman Rhee

(v) Marudhu Brothers

QUTHSSIs:

(i) anledsr_edr Lifrés

(ii) surammi Sleriéd
(ii) pols 5181 Guissio
(iv) SAmGlossr

(V) wmg #Casrarissr

Match the Following:
(i) Mazagaon Dock

(ii) Black Gold

(iii) Hirakud

(iv) Biosphere Reserve

(v) Tsangpo

Titu Mir

Kalayar Kovil
Gerrhany
Maraimalai Adigal

South Korea

14-® B

&.rrmarﬁ.m’ri’ Gasrallsy
Glggrwoesf]
LOEWMLOENEV |Lg-55 61T

g6t Qsmmlwm

Coal

Nanda Devi
Brahmaputra
Mahanadi

Mumbai
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QU HSSs:

(i) Guasrer sLLO sL_HID Serid - PBlevdsifl

(i) smLIYy sRsLD - BhSTCH]
(iii) anflrm@_ - Ulriboygrm
(iv) e uiGsmer &sriiusd - WaTHS

(V) sraGuim - (@pLoenL

a) Distinguish between
(i) Weather and Climate
(i) Agro based Industries and Mineral based Industries

b) Give reason: Rain water harvesting is necessary.

9)) CaupuBs515.

(i) suresflemev H DD &TeVBlEMEV

(i) Geuarredsr #rirhg CHTVSRmSET LHDID Saflwb FTihs CFTH eV kIS
9}) STTEWTLD Fn IS LOEDLPH T G&asrﬂﬁq Sjeudlwd.

Assess the structure and the activities of the UN.

&8l prHseT Fanuuiler genwliy, CFudurhsamer ey CFis.

What do you know about ‘salt march to vedaranyam’?

Gaugrrewruid o (i s5Swrdlrssensls uHml oL Twsis.

Write about southwest monsoon.

Qser@upe UENESTHDI G TWEIS.

Give an account of water resources of Tamil Nadu.

SUIPHTL 16T BT Y STrmIsSenerts uHm 6TsIs.

Point out the Fundamental Rights.

QUL o_flepwasenerts upml &BILNGs.

Explain about Panchsheel principles.

uehsFe Cari_ur@Basamerts unm afleuflés.

What are the Important characteristics of successful Industrial Clusters.
CsTPHHESTEGLYser Qeup Gum wpéSwl LT ST WTeneu?

What are the methods of calculating Gross Domestic Product? and explain.

GDP eww senrésl i wpewpasr wreneu? jeunplener afleutsss.
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Note: Blind Candidates have to write only notes for the questions related to Time Line
Chart and Map
GOy | urFepaubHM LTesTouTS6T STEVEGST®H LHMID ueNTUL SV penpCu
Blapaysameryb @)L hismeryb GHIOULGS ST QausbhE UlwTs JaupHenpU
upBlw GOICIYEsT WL B s GauaT@ID.
Draw a time line for the following:
Write any five important events between 1920-1940.
SparerusTeuHDIDE@ STeVsEGHTH auenys:
1920 wazev 1940 suemrullevres gbg Wé&w BlEpeysemer &Tevd:GHTiig e 6T(HSI%.
Mark the following places on the World map.
(i) Great Britain
(i) Germany
(iii) Russia
(iv) Hiroshima
(v) Hawai Island
2608 uUMHTLL SFV &1PpsETERID @)L Bisener &nlésea L.
(i) HCr AALLetr
(ii) Qg irwesf]
(iii) reigwim
(iv) enIGrraflom
(V) ameumis Say
PART - IV/ ugd - IV
(Marks : 16) / (gll1@uessts6r : 16)
Answer both questions. 2X8=16
@) ellerrésEns @ el weflss.
(a) Balkan Wars
(i) Why was Balkan League formed?
(ii) What was the outcome of the first Balkan War?
(i) Who were defeated in this war?

(iv) What was the name of the Treaty signed at the end of this second Balkan War?



(b) Subhas Chandra Bose and INA
(i) How did Subhas Chandra Bose reach Japan?
(i) Who headed the women wing of Indian National Army?
(iii) How did Subhas Chandra Bose reorganize the INA?

(iv) Name the slogan provided by Subhas Chandra Bose.

43 (o) urevser Guriser
(i) TS 6T HLYP&ID e76sT 2 HeuTHasliLL L g)?
(ii) ps6v umsvassir Gurilesr afllenereyser wreneu?
(i) @uGurflev Csrheiyssliul L aurseT wreui?
(iv) @resr_meug ursvsssr Gumrflssr @ muglullev em&ECWwWSHLLIL L 2 L eTuigdensullsT

EuUwGresTer?

() sureiy oAy Guriv wppid> @pdlu Gl rremied
(i) &#umrey #Hglr Gursv gULTEET 6TLILIGEF QFSTHEL_HSTT?
(i) @bdlw Csflw rreamieusgler Gusrassr Lfeys @S Seneveno sHmeui wmri?
(iii) &umreiy #Hglr CGuren @HSw CasAlw rremiuseams stausurm wHFTewliys CFEiisri?

(V) &surey sBglr GUreTe suyPBISLIUL L WPY&&ED wrg?

(OR)
(ETEE)
43 (c) Ramalinga Adigal
(i) What is Jeevakarunya?
(if) What are the Songs of Grace?
(i) Point out the major contribution of Samarasa Vedha Sanmarga Sathya Sangam?

(iv) Where did he establish his free feeding house?

(d) Vellore Revolt
(i) When did Vellore Revolt break out?
(ii) Who introduced new military regulation?
(iii) Who was the first victim of the revolt?

(iv) Who was proclaimed by the rebels as their new rules?



43

44

(@) rrwediBis g.ser
(1) fous T mHessTwID 6TETMTV 6T6ITEHT?
(il) Sy sTedTDTEV 6TEITEUT?
(iii) #wore Goug saTwriss FHw FussHler WPasHwl urmsefllumus GOILUGS.

(iv) se18 @oveus o_amreussens Hjeui 6ThCs DSBS HHSTT?

() CaigET Ly
(1) Gaugarit LA eriCuirgy Qg 55817 )
(i) @rramasdo yPu el ympsmer sfl@siuGsHusi wri?
(i) Yo Auflsir Gursy wpsedléd LsSurareu wri?

(iv) yriAwrerisermed yglw wesrasryra HPlailésiiul L eui wri?

Note: Blind Candidates have to write only notes for the questions related to Map
GDILY : urFensauWmHD LOTESTEUTSHT suenruL S5V @)L msewer GOILUL(Hé sTlRaugnE

ugleors eumenms uHBlw GollyssT W eTps CoueT(HILD.

Mark the following places on the given outline map of India.
i) Aravalli range
ii) River Cauvery

iii) Direction of South-West monsoon winds

(
(
(
(iv) Agasthiyamalai bio-sphere reserve
(v) The main region of biack soil

(vi) Any one International Airport

(vii) Atomic power station in Tamil Nadu
(

viii) Railway route from Mumbai to Kolkata

Qarhssuul_Berer @)HSlw eueruLGglev LleremeusTainenm @mnléaseayLb.
i) 2,reusved eMEVSEISTL T
ii) smrelilfl umi

(

(

(iii) CpeTGm & LmeaussTHY efsd Flena

(V) gy&evglw wensw o ullidsGsmerts G L &b
(

V) &ifl&6) et Srewriu®L WPHSw UGS



(Vi) sCGaeib @ usiTar T B aflwreT Blepsvwid
(Vii) sLDBIL 1960 2_6Ter osmLilsiT BlemsvwiLd

(viii) pibewu psev QaETsSST auemrullevrar rullsoursns

(OR)

(Sy6vsv51)

Mark the following places on the given outline map of Tamil Nadu.

(i) Nilgiri hills

(if) Coromandel Coast

(iii) A paddy growing area

(iv) Bavani Sagar Dam

(v) Thoothukudi Port

(vi) Any one International Airport
(vii) Pulicat lake

(viii) Kanyakumari

Car@ssuulL sUlps auenruLG8s UsramaaTaunean &mnlésey L.

(i) Povdlfl @siTmuser

(i) GeripoaiTsv HL_HaHenT

(iii) erGoeuid Gpev afleweruyd LG

(iv) ueuref] srai et

(V) 878815814 sIwP WS

(Vi) s@semutd m usierT_ B aflreTr Klensowid
(Vi) upGeupasr® il

(viii) ssesrevfluwsimgof



